EBRBROHIBAFITIHEEHNBO—ER

(fRERE SR REH)

i mEwH ) ﬁﬁ%ﬁ‘: amw | WF
G M ECE S | 30

323 |Python 90 ©) 90
FEH | F—Y A RTL—LTU—7| 90 O 90
323 |Java 90 @) 90
FE |7 T U RERI 60 O 60
M |ITHMER I 90

WE | ITHRME R O 90

W |[EFREBSK I 90

Y |ERRBOSE T 60

923 |Linux 30 O 30
F2%  [Bxcel F&#f 60

Y [ExcelinH 30

£ |Webi R T KRR I 60 O 60
FE |Webi XF ABHR T 90 O 90
HE (1T x V7 T7¥A 1 30

wE | ITx¥x V7 7¥ A1 60

A [EEREAMI 30

e R THE S s 90

Y [3RERRE 120

FhEE [2PRP ST T 60
2RI T 60

HE | 2kERERA T 120

WY (ITxx V7T HA 10 120

RN U o A ah A VG \Y 30

=% A= N N S P Ny 4 90 O 90
FEH | rFuRarta—T427 90 @) 90
FH |7 T U RENT 90 O 90
I |AREAIET 90 O 90
F=E | FERIED 90 O 90
FE | FERIED 150 O 150
E=E (AT Vs MERSPEEE | 120 O 120
ey |EFERBR R 60

2,460 1,230
ERITDETRREY 1,700




